APPENDIX C

POST-1996 TARGET LEVEL CALCULATION
FOLLOWING EPA GUIDANCE



(0dL ¥'9¢¢

adl ¥'922 = (666T)1L
8'%-6'9Z - 1852 = (666T)1L
P ((666T).Ld - 199 - (966T)1L) = (666T)1L

()14 - 199 - (A1) = ()L
666T ¥0O4 13IAIT LIADUVL
adlsv
adl 8 =(666T).1d
L'6€ - S = (666T)1d Ll 1852 Y
NOILONATY dAY/dDANS (966T) 066T = g -
NOILONATY dAYH/dOANS (666T) 066T =€
g-e =(x)1d
NOILOIHHOD ¥IAONYNL 13314 (AL
966T HO4 TIATIT LIDHVL
adl sy adl 0'08T
60°0 666T ANY 066T NIIMLIF SNOISSING
OlLvd A8 ATdILTNN SNOILONAIY dAY/dOANS 1OVH19NS JINIDO0I9 10Vvd1dnS
Nd1 692 (1d.L 8'86¢ adL eeve adl £€25
666T OL IAILYTIH
666T ANV 966T NIIMLId A3LYINDTYD AMOLNIANI AHOLNIANI ¥VIA ASVE AHOLNIANI
a3diNd3Id NOILONATIY SNOISSING HVaA ISYE d31SNCAY 0661 SSIUD0Ud-40-ILVH 0661 dv3A ISV 066T

ealy JuswuleljeuoN aiouwljjed
SUOISA[IN 6661 10} [9Aa1 19BIBL DOA 10J HeUoMo[]




(0d1 €961

adl €967 = (2002)1L
§'€-99Z -t'92¢ = (2002)1L
P ((2002)Ld - 199 - (666T)1L) = (2002)1L

(¥)1d -198g - (A1) = ()L
666T HO4 T3IAIT LIADUVL
adlse
adl g€ =(2002)14
S'v - 0'8v = (2002) 1 (41 ¥'922 )
NOILONATY dAY/dOAINA (2002) 066T = g o
NOILONATY dAY/dIANS (2002) 066T =€
g-e =(x)1d
NOILOIHHOD YIAONINL L3314 (A)1L
666T YO 13AIT LIADUVL
adl osy adl 008T
60°0 200Z ANV 066T NIaML3g SNOISSING
OlLvd Ad ATdILTININ SNOILONATY dAH/dOANA 10vH19NS JINTIOO0Ig 10vd1ans
1d1 992 0d.L 2's6¢ adL eeve adL £'ezs
200Z OL IAILYT3H
2002 ANV 666T NI3aML3d AaLVYIN9TYD AHOLNIANI AHOLNIANI HVIA 3SVd AHOLNIANI
a3adind3yd NOILONA3Y SNOISSINTG YV3IA ISVE ILSNCAY 066T SS3YO0Hd-40-31Vd 0661 dV3IA 3Svd 0661

ealy JuswiureeuoN alownreg
SUOISIIN 200¢ 10} [9AaT 19018 L DO 10} HeUoMO[]




(0d1 9891

adl 9897 = (S5002)1L
2T-592 -€96T =(5002)1L
P (5002)1d - 194 - (2002)1L) = (2002)1L

()14 -1949 - (A1) = ()L
S00Z Y04 13AIT LADUVL
adlzt
adl z'T =(5002)14
0'8¥ - 2'6% = (5002) 14 d1L £ 96T Y
NOILONATH dAY/dIANA (5002) 066T = g -
NOILONAIY dAY/dIANA (G002) 066T =€
g-e =(x)1d
NOILDIHHOD YIAONHNL 133714 (AL
2002 404 T3AT1 L39UVL
adl zev adl 0°08T
60°0 S00Z ANV 066T NIaML3g SNOISSING
OlLVYd A9 ATdILTININ SNOILONATY dAY/dIANS 1OVH19NS JINIOOIg 1OVH1dnS
Ndl 592 (0dL T'v6< adl £ €ve ddl €€ca
5002 OL IAILY T3
5002 ANV 666T NIIMLIL AaLVYIN9TYD AHOLNIANI AHOLNIANI ¥V3IA ASVE AHOLNIANI

ealy JuswiureeuoN alownreg
SUOISIIN G00g 10} [9AaT 19018 L DO 10} HeUoMo[]




(dd1l /'6€¢C

adl 2'6€2 = (666T)1L
8% -9€T -1'85¢ = (666T)1L
P ((666T)L - 199 - (966T)1L) = (666T)TL

()14 - 199 - (A0 = ()L
666T YO TIATT LIDUVL
adl sy
adl 8'v = (666T)L1d
L'6€-Svv = (666T)14 Ll 1852
NOILONAIY dAH/dOANS (966T) 066T = d I
NOILONAIH dAH/dOANA (666T) 066T =®©
q-e =(x)1d4
NOILOIHHOD YIAONANL L3T14 (AL
966T Y04 TIATT LIADUVL
adl sy adl 0081
§Sv0°0 666T ANV 066T NIIML39 SNOISSING
OlLvd Ad ATdILTNIA SNOILONATY dAY/dIOANA 10vH19NS JIN3IOO0Ig 10vd14ans
NdL 9'€T (0d1 8'86¢ ddl eeve adl £'€25
666T OL IAILY1IY
666T ANV 966T NIIMLIF AaLYINITVYD AMOLNIANI AHOLNIANI ¥VIA ASVE AHOLNIANI
a3adiNnd3yd NOILDONA3Y SNOISSING YY3IA ISVE A3LSNCAY 066T SS3IYO0Ud-40-31Vd 066T dV3IA 3Svd 0661

eoly JuswuleyjeuoN o=1o0wiljjed
SUOISIIIN 6661 10} [9Aa139BI8 L DO 0] HeUdMo[]




(d1l 6°¢T¥

Qadl 62Ty = (666T)1L
8'GE - 26T - 6297 = (666T)1L
P ((666T)Ld - 199 - (066T)1L) = (666T)TL

()14 - 199 - (A1) = (1L
666T ¥Od4 13AIT LIADYVL
adl 8'GE
adl 8'se = (666T).Ld
0-8'se =(666T)1d LdL 6290 Y
NOILONATY dAY/dDANAL (066T) 066T = g o
NOILONATH dAY/dIANAS (666T) 066T =€
g-e =(x)1d
NOILOIHHOD YIAONHNL 13314 (AL
966T HO4 TIATT LIDHVL
adl 8'ge adLoo
Sv¥0°'0 666T ANV 066T NIIML3d SNOISSING
OlLvd A8 ATdILTNA SNOILONA3Y dAY/dOANA 1OvH19dNS JINI9O0Ig 1Oovd19NnsS
1dl 26T (0dL T'cey adl 6',9v adl 6'.97
666T OL IAILYTIH
666T ANV 966T NIIML3d A3LYINDTYD AHOLNIANI AHOLNIANI ¥VIA ASVE AHOLNIANI
a3dINd3IY NOILONATY SNOISSINT HVaA ISYE d31SNCAY 066T SSIUO0Ud-40-I LV 066T dVv3IA 3Svd 0661

ealy JusWureneuoN aiownreg
SUOISI[IN 666T 10} [9Aa]189bIe] XON 10} eyomol




addl8'TT

Qadl 8'TT = (666T)1L
S0-¥T -2'€T=(666T)1L
P ((666T).L - 199 - (966T)1L) = (666T)TL

()14 - 199 - (A1) = ()7L
666T YO TIATT LIDAVL
adlso
adl s0=(666T)1d
¥'2-6C=(666T)1d adl 21
NOILONAIY dAH/dOANA (966T) 066T = g o
NOILONATH dAH/dOANA (666T) 066T =B
q-e =(x)1d
NOILOIHHOD YIAONANL L3T1H (AL
966T HO4 T3ATT LIDHVL
adL ez adloee
600 666T ANV 066T NIIML39 SNOISSING
Ollvd A9 ATdILTNA SNOILONATY dAY/dOANA 1DvH19NS JINTODO0Ig LOVd14dNS
adlv'T adl 9'sT adl s'8T adl s'1s
666T OL IAILYTIIH
666T ANV 966T NIIML3I9 aaLVINOTVYD AMOLNIANI AHOLNIANI HVIA ISV AHOLNIANI
a3ydIiNO3Y NOILONAIY SNOISSING YVY3IA ISVE a3LSNCAY 066T SS3IYO0Hd-40-31Vd 066T dV3IA 3SV4A 0661

SUOISIIIN 6661 10 [9Aa 1 19BI8 L DOA 0] HedMo[]



ddlcort

adl z'ot = (2002)1L
20-¥'T -87TT =(2002)1L
P  ((z002).Ld - 199 - (666T)1L) = (2002)1L

(¥)1d - 1949 - (A1) = ()L
2002 404 T3AT1 L39HVL
adlzo
adl z'0=(2002)14
6'¢-1°€=(2002)1d QdL 81T Ny
NOILONATY dAY/dDANAS (666T) 066T = g -
NOILONAIY dAY/dDANS (2002) 066T =€
g-e =(x)1d
NOILOTHHOD ¥IAONYNL 13374 (AL
666T HOd TIAT1 LIDUVL
adlrte adloee
600 2002 ANV 066T NIIMLIG SNOISSING
OlLvd A9 ATdILTNIA SNOILDONA3IY dAH/dOANA 10VvH19NS JINIOO0Ig 1LOVvdldnsS
adL vt adl t'stT adl s8I adl G'TS
2002 OL 3AILY13H
2002 ANV 666T NIIML3I4 QaLYINDTVD AYOLNIANI AHOLNIANI HV3IA 3SVd AHOLNIANI
azxdiNd3d NOILONAIY SNOISSING dv3IA ISvd a3LSNCcay 066T SS3YO0Ud-40-31Vd 0661 dV3IA ISV 0661
Aunod 198D

SUOISI[IN 2002 10} [9Aa1 19BIBL DOA J0J HeUomo[]



ddl /'8

adl 28 =(5002)1L
T0-¥T -20T=(5002)1L
P ((S002).L4 - 1949 - (2002)7L) = (5002)7L

()14 -199 - (A1) = ()L
G002 HO4 T3ATT LIDUVL
adlto
adl 10 =(5002).1d4
T'e-2°€=(5002) 14 adl Z 0T Y
NOILONATH dAH/dOANA (S5002) 066T = g -
NOILONATH dAH/dDANA (S002) 066T =€
g-e =(x)1d
NOILOIHHOD YIAONINL 13374 (AL
5002 HO4 TIATT 1IDUVL
adLrze adloee
600 G002 ANV 066T NI3aML3g SNOISSING
OILVvd A9 ATdILTNIA SNOILONATY dAY/dOANS 1LOVH19NS JIN3IOO0Ig 10vd1ldNs
Qdl v'T adl €'sT adl s'8T adl §'1§
5002 OL IAILY13H
5002 ANV 2002 NIIML3g A3LYINOTYD AHOLNIANI AHOLNIANI HVIA ISVd AHOLNIANI
a3dind3d NOILONA3Y SNOISSIANT dV3IA 3SY9 A3LSNcay 066T SS3YO0Ud-40-31VH 0661 dV3IA 3SV4 0661

SUOISIIIN GOOC 10§ [oAa] 19BIEL DOA 10} Heyomo|



